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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

Answer all the questions.

1.  Answer any five questions: 1x5=5

@-GFI “Hofo aria Teg wie ¢

a)

b)

d)

Mention two indirect taxes in India.

IS A5fere 1fG AT HC AN 4 |
What is the sex-ratio of India according to the
Census 2011?

2011 AT TP SRR SRced os-swsie
FO?

What was the growth rate of per capita income
of India during the period 1951-2011?

1951-2011 =i wizces Wiifeg =i s
o O ?

Give an example of an agro-based industry.

[Turn over]

g)

h)

2. Answer any ten questions:

G3fo FR-fsn Ritem Trizzel wie |

Who is the father of Indian green revolution?
OIS G R & (2
Mention the time period of 2nd five year plan.

o 212 AT ATl G 74|

What is the total population of India according
to 2011 census?

2011 SIFPINIST SIS SIS (6 SoPiRas F 2
Write down the full form of G.S.T.

GS.T-a 5@ AN 2
2x10=20

-G vifS rsa Tea wie ¢

a)

b)

c)

d)
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What do you mean by Balance of payment?

ETMCR TFS &0 (AR 2

What is Cash Reserve Ratio?

oI T SIS F 2

Give two examples of mechanisation of

agriculture.

i T v Srzgel i |

Give two characteristics of Green Revolution

took place in India.

wice Wafbe 7w [e@a vt @eER e 4|
Define Regional Rural Banks (RRBs).
Sieelers Al iz e wis |
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f)  Define Special Economic Zone (SEZ).
oo wfes @aiet (SEZ)-a3 7kt 7ie |

g)  What do you mean by public sector?
AP (g 00 F (R 2

h)  Name two export goods of India.
A0S ¥ib AQI T AN @74 |

1)  What is meant by import substitution?
RING ERAEE SO R IGE:

j)  What is population explosion?
eepicay] fRepiRe e

k)  What is poverty line?
vifsw el 2

1)  What is small scale industry?
= {15 I A 2

3.  Answer any five questions: 6x5=30

@-GFI “Hofo aria Teg wie ¢

a)

b)

44(A)1

What are the features of land reform in India?
IR0 BfSl AT ool 1 Ji 2

Write a short essay on the Governmental
initiatives to eradicate unemployment problem

in India.

Gl wifene e =14 |
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d)

g)

h)

4.  Answer any three questions:

Write down the merits and demerits of import

substitution.

e AR 726 € F3FT THCHF (14 |

Write a short note on the measures taken to

reduce inequality in income and wealth in India.

SIS B 6 MM ([ TR & 92 IIM
R G oIl (574 |

Write any three objectives of planning in India.

CRCed ST ARFER foalt S @14 |
Write some points in favour of cooperative
farming.

AR BT 2/ Foafe] Iie wie |

What are the causes of low productivity in Indian

agriculture?
e PR TH CeAMARTOR B & 62

Mention the problems related with small and

cottage industries.

FY ¢ T MR TPTIefe] Srae 4 |
15x3=45

@I foa® s Tea nie ¢

a)
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Explain the importance of agriculture in Indian

ecconomy.

LN

SR SIlore FRT weg U 4 |
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b)

d)
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Describe the credit control policy of the

Reserve Bank of India.

wred e iEa A9 Fxge Aife <@ 4|

Write an essay on India's 'Balance of Payments'.

TS @R @ A9 @ @ &3 @14 |

Describe the causes of inflation in India.
Mention the different measures taken by Govt.
of India for controlling inflation.

RS JurHfed FRaf 3@ 71 | erkce Jurafe
[BRFSERRIBEICRIE G RCIGREE

Describe the measures adopted by the Govt. of

India to eradicate poverty.

TS TR T Sl TR (I g 22
F(AR el 1o 79|



